Compte Est Bon N°E.

5 3 25 1 3 7
1° solution 2°™ solution 3°™ solution 4°™ solution
5+7=12 25+1=26 7-3=4 25-1=24
12 x 25 =300 7+5=12 25 x4 =100 3+3=6
3+1=4 12 x 26 =312 5-1=4 6+7=13
3x4=12 100 + 4 = 104 24x13=312
300 + 12 =312 8x104=312

Compte Est Bon N°F.
8 3 25 6 9 7
1° solution 2°™€ solution 3°™€ solution 4°™ solution 5°™¢ solution 6°™ solution
25x9=225 25+8=33 25 x6 =150 9+6=15 6x9=54 6x7=42
6+7=13 33x3=99 150 +9 =159 25 x8=200 54 +25=79 42 x 8 =336
225-13=212 99 +7 =106 7-3=4 200+ 7 =207 79 x 8 =632 9+3=12
8x212=636 B x 106 = 636 4 x 159 = 636 3x207 =621 7-3=4 12 x 25 = 300
621+ 15 = 636 632+4 =636 300 + 336 = 636
Compte Est Bon N°G.
2 7 8 1 9 4
1° solution 2°™ solution 3°™ solution 4°™ solution 5°™ solution 6°™ solution
2+9=11 8+9=17 7 x8 =56 9x8=72 7-1=6 9+8=17
7 x8=56 2+7=9 2+1=3 72 —-4=68 8+9=17 7+2=9
56 x 11 =616 17 x9 =153 3x4=12 9%x68=612 6x17 =102 9x4=36
616 —4 = 612 4 x153=612 56 +12 = 68 2+4=6 36 x 17 =612
g x 68 = 612 Bx 102 =612

Compte Est Bon N°H.
10 5 9 1 2 4
1°° solution 2°™€ solution 3°™€ solution 4°™ solution 5°™¢ solution 6°™ solution
5+1=6 10+5=15 2+10=12 10x9=90 10+2=12 9x4=36
6x10=60 15+1=16 5-1=4 90+5=95 5x9=45 10+5=15
60+4=64 16 x4 =64 12+4=16 95+1=96 45+4 =49 15+1=16
§x64=576 gx64=576 16 x 9 = 144 4+2=6 49 -1=48 36 x 16 =576
4 x144=576 6 x96=576 12 x 48 =576




